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PE SO 01 PE THI THU THPT QG 2021
Ho va tén: Mon: Tiéng Anh7 ‘
Ngay chira: Thoi gian lam bai: 60 phut, khong keé thoi gian phat de

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs
from the other three in pronunciation in each of the following questions.

Question 1:  A. rough B. sum C. utter D. union
Question 2:  A. hear B. clear C. bear D. ear

Mark the letter A, B, C, or D on you answer sheet to indicate the word that differs from the rest in the
position of the main stress in each of the following questions.

Question 3:  A. develop B. adjective C. generous D. popular
Question 4:  A. punctual B. tolerant C. utterance D. occurrence

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
following questions.

Question 5: Lady Gaga is an American singer, songwriter and actress, ?
A. doesn'tshe  B. hasn't she C. won't she D. isn't she
Question 6: The government suggests robots to access remote areas that are dangerous to the
lives of militants.
A. to design B. designing C. design D. designed
Question 7: The US president Barack Obama an official visit to Vietnam in May 2016, which is
of great significance to the comprehensive bilateral partnership.
A. delivered B. paid C. offered D. gave
Question 8: Good students aren't intelligent students.
A. necessity B. unnecessary C. necessary D. necessarily
Question 9: Although he is my friend, | find it hard to his selfishness
A. catch up with B. put up with C. keep up with D. come down with
Question 10: Vietnam announcing a nationwide lockdown to fight COVID-19 on April 1,
2020.
A. start B. started C. will start D. has started
Question 11: Paul is a very character, he is never relaxed with strangers.
A. self-conscious B. self-satisfied
C. self-directed D. self-confident
Question 12: Many of the pictures from outer space are presently on display in the public
library
A. sending B. sent C. having sent D. were sent
Question 13: John congratulatedus __ our exam with high marks.
A. on pass B. for passing C. to pass D. on passing
Question 14: Theaccused __ guilty to all charges
A. confessed B. pleaded C. said D. admitted
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Question 15: they do not have much experience, their applications have been approved.
A. So that B. Although C. Because D. As soon as

Question 16: Only after food has been dried or canned
A. that it should be stored for later consumption
B. should be stored for later consumption
C. should it be stored for later consumption
D. it should be stored for later consumption

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete
each of the following exchanges.

Question 17: Jenny and Kathy are arranging to see a new film.

- Jenny: “Why don’t you come over and see the new film with me?”

- Kathy: “ ”?
A. Great, I’d love to. B. Oh, I’'m afraid so.
C. You’re welcome. D. Wow! You didn’t realize that.

Question 18: Helen and Sarah are talking about their school’s field trip.
- Helen: “This is the best field trip we’ve ever had”.

- Sarah: “ . Everyone enjoyed it to the fullest.”
A. 1 don’t think that’s a good idea B. I totally disagree
C. You’re right D. Never mind

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each
pair of sentences in the following questions.

Question 19: He was so angry with his boss. He quitted his job immediately.
A. Angry with his boss, he quitted his job immediately.
B. He quitted his job immediately, angry with his boss.
C. Angry with his boss he is, he quitted his job immediately.
D. He was so angry with his boss although quitting his job immediately.
Question 20: He doesn't like going out. He doesn't invite any friends home.
A. He either goes out or invites any friends home.
B. He neither goes out nor invites any friends home.
C. He not only goes out but also invites any friends home.
D. He goes out but not invites any friends home.

Mark the letter A, It, C, or I) on your answer sheet to iiuiicate the sentence that is closest in meaning to
each of the following questions.

Question 21: I'm sure Luisa was very disappointed when she failed the exam.
A. Luisa could have been very disappointed when she failed the exam.
B. Luisa must be very disappointed when she failed the exam.
C. Luisa must have been very disappointed when she failed the exam.
D. Luisa may he very disappointed when she failed the exam.
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Question 22: The weather was very hot. The boys continued playing football in the schoolyard.

A. Despite the weather was hot, the boys continued playing football in the schoolyard

B. An spite of the hot weather, the boys continued playing football in the schoolyard

C. Because the hot weather, the boys continued playing football in the schoolyard

D. Because of the weather was hot, the boys continued playing football in the schoolyard.
Question 23: People think the Samba is the most popular dance in Brazil.

A. It is thought that the Samba is among the most popular dances in Brazil.

B. It is thought that the Samba was the most popular dance in Brazil.

C. The Sumba is thought to be the most popular dance in Brazil.

D. In Brawl the Samba is thought to be one of the most popular dances.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 24 to 30.

Nepal has made important progress over the past few years to promote equality, but the country still has
one of the highest rates of child marriage in the world. 41% of Nepalese girls are married before the age
of 18.

Poverty is both a cause and consequence of child marriage in Nepal. Girls from the wealthiest families
marry 2 years later than those from the poorest, who are seen as an economic burden, and who drop out
of school and earn little money.

Food insecurity plays an important role too. Nepalese families that do not have enough food to eat are
more likely to marry their daughters at a young age to decrease the financial burden. One study shows
that 91% of people who had secure access to food married over the age of 19.

Dowry is also a common practice in many communities. Parents marry their daughters as soon as possible
because the money they have to pay for the groom'’s family is higher if their daughter is older. Since 2010,
the legal age of marriage is 20 for both men and women, or 18 with parental consent, according to the
Nepalese Country Code.

The law states that punishment for child marriage is imprisonment for up to three years and a fine of up
to 10,000 rupees (£102). But reports suggest that this law is rarely applied. There has been quite a lot of
progress in Nepal over the past 3 years with a clear government commitment to ending child marriage and
civil society cooperation. The Ministry of Women, Children and Social Welfare is currently developing
Nepal's first national strategy on child marriage in collaboration with UNICEF Nepal and Girls Not
Brides Nepal. However, the post-earthquake and post-fuel crisis environment has meant progress is slow
and the national strategy has been delayed.

(Adapted from http://www.girlsnotbrides.org/)
Question 24: Which of the following best serves as the title for the passage?
A. Nepal Government in an attempt to reduce social inequality.
B. Child marriage - A completely tractable problem in Nepal.
C. Nepal's strategies to child protection programming.
D. One type of child abuse in Nepal: Child Marriage.
Question 25: According to paragraph 2, in Nepal, girls from needy families
A. play an important role in bolstering their household finances
B. can get married two years later than those are from poor families
C. are forced to drop out of school because their parents have no money
D. have to get married earlier than those are from affluent families
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Question 26: The word “those” in paragraph 2 refers to

A. girls B. years C. rates D. families
Question 27: The word “burden” in paragraph 3 is closest in meaning to

A. potency B. load C. cargo D. issue
Question 28: The word “imprisonment” in the last paragraph could be best replaced by

A. salvation B. custody C. detention D. emblem
Question 29: According to the passage, which of the following statements is NOT true?

A. Parents who marry their children before the allowed age normally pay a fine.

B. The age of marriage in Nepal depends on the money the families have.

C. According to the law, if people have their parents' permission, they are allowed to marry at 18.

D. Nepalese families have a tendency to marry their daughters at a young age.
Question 30: It can be inferred from the passage

A. Nepal had the highest overall prevalence of child marriage in the world

B. The recent earthquake was negative for the eradication of child marriage

C. Families want to marry their daughters soon to earn money

D. The government is not doing much to put an end to child marriage

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks from 31 to 35.

The invention of the mobile phone has undoubtedly revolutionized the way people communicate and
influenced every aspect of our lives. The issue is whether this technological innovation has (31)

more harm than good. In order to answer the question, we must first turn to the types of consumers.
Presumably, most parents (32) are always worrying about their children's safety buy mobile
phones for them to track their whereabouts. We can also assume that most teenagers want mobile phones
to avoid missing out on social contact. In this context, the advantages are clear. (33) , We cannot
deny the fact that text messages have been used by bullies to intimidate fellow students. There is also (34)

evidence that texting has affected literacy skills.

The widespread use of mobile phone has, out of question, affected adult consumers too. What
employee, on the way home from work, would be reluctant to answer a call from their boss? Apparently,
only 18% of us. according to a survey, are willing to switch off our mobile phones once we've left the
office.

Admittedly, mobile phones can be intrusive but there are obvious benefits to possessing one.
Personally speaking, they are invaluable when it comes to making social or business arrangements at

short (34) . They also provide their owners with a sense of security in emergency situations.
Question 31: A. brought B. played C. done D. made

Question 32: A. whom B. what C. which D. who

Question 33: A. Moreover B. Therefore C. However D. So that

Question 34: A. arguable B. doubtless C. unhesitating D. indisputable

Question 35: A. warning B. time C. term D. notice

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the
underlined word(s) in each of the following questions.

Question 36: "I missed the deadline for cancelling the subject I hate.”
"Oh, well, I guess you'll have to tough it out then until the end of the semester."
A. to train to become tougher B. to deal with your own stupidity
C. to have no choice but to manage it  D. to try to become stronger
https://www.facebook.com/phithibichngocteacher 8
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Question 37: School uniform is compulsory in most of Vietnamese schools.

A. paid B. divided C. depended D. required
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to
the underlined word(s) in each of the following questions.

Question 38: Research suggests that children are more resilient than adults when it comes to getting over
an illness.

A. making a quick recovery B. becoming healthy again
C. making a slow recovery D. becoming much stronger

Question 39: Both universities speak highly of the programme of student exchange and hope to
cooperate more in the future.

A. voice opinions on B. find favor with
C. express disapproval of D. resolve a conflict over

Mark the letter A, B. C, or D on your answer sheet to show the underlined part that needs correction in
each of the following questions.

Question 40: More research is needed to find out if acupuncture is helped with other side effects such as
pain, anxiety or shortness of breath.

A. such as B. is helped C. shortness D. is needed

Question 41: ASEAN aims at promoting economic growth, regional peace as well as provide
opportunities for its members.

A. provide B. economic growth  C. aims at D. its
Question 42: She complained that her husband never paid her any complements anymore.
A. never B. any complements  C. complained D. anymore.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 43 to 50.

An air pollutant is defined as a compound added directly or indirectly by humans to the atmosphere in
such quantities as to affect humans, animals, vegetation, or materials adversely. Air pollution requires a
very flexible definition that permits continuous changes. When the first air pollution laws were
established in England in the fourteenth century, air pollutants were limited to compounds that could be
seen or smelled- a far cry from the extensive list of harmful substances known today. As technology has
developed and knowledge of health aspects of various chemicals has increased, the list of air pollutants
has lengthened. In the future, even water vapor might be considered an air pollutant under certain
conditions.

Many of more important air pollutants, such as sulfur oxides, carbon monoxides and nitrogen oxides are
found in nature. As the Earth developed, the concentration of these pollutants was altered by various
chemical reactions; they became components in biogeochemical cycles. These serve as an air purification
scheme by allowing the compounds to move from the air to the water or soil. On a global basis, nature's
output of these compounds dwarfs that resulting from human activities.

However, human production usually occurs in a localized area, such as a city. In such region,
human output may be dominant and may temporarily overload the natural purification scheme of the
cycles. The result is an concentration of noxious chemicals in the air. The concentrations at which the
adverse effects appear will be greater than the concentrations that the pollutants would have in the
absence of human activities. The actual concentration need not be large for a substance to be a pollutant;
in fact, the numerical value tells us little until we know how much of an increase this represents over
the concentration that would occur naturally in the area. For example, sulfur dioxide has detectable
health effects at 0. 08 parts per million (ppm), which is about 400 times its natural level. Carbon
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monoxide, however has a natural level of 0. 1 ppm and is not usually a pollutant until its level reaches
about 15 ppm.

Question 43: What does the passage mainly discuss?
A. How much harm air pollutants can cause.
B. The effects of compounds added to the atmosphere.
C. What constitutes an air pollutant?
D. The economic impact of air pollution.
Question 44: The word “adversely” in the first paragraph in closest in meaning to
A. negatively  B. quickly C. admittedly D. considerably
Question 45: The word “These” in the second paragraph is closest in meaning to
A. the compounds moved to the water or soil
B. the components in biogeochemical cycles
C. the pollutants from the developing Earth
D. the various chemical reactions

Question 46: For which of the following reasons can natural pollutants play an important role in
controlling air pollution?

A. They have existed since the Earth developed.
B. They occur in greater quantities than other pollutants.
C. They are less harmful to living beings than other pollutants.
D. They function as part of a purification process.
Question 47: According to the passage, human-generated air pollution in localized regions
A. can overwhelm the natural system that removes pollutants
B. can be dwarfed by nature’s output of pollutants
C. will damage areas outside of the localized regions
D. will react harmfully with natural pollutants

Question 48: According to the passage, the numerical value of the concentration level of a substance is
only useful if

A.itisin alocalized area B. the other substances in the area are known

C. it can be calculated quickly D. the natural level is also known
Question 49: The word “detectable” in the third paragraph is closest in meaning to
A. beneficial B. separable C. special D. measurable

Question 50: Which of the following is best supported by the passage?

A. One of the most important steps in preserving natural lands is to better enforce air pollution
laws.

B. Human activities have been effective in reducing air pollution.

C. To effectively control pollution, local government should regularly review their air pollution
laws.

D. Scientists should be consulted in order to establish uniform limits for all air pollutants.
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DE SO 02 PE THI THU THPT QG 2021

Ho va tén: Mén: Tiéng Anh

Thai gian 1am bai: 60 phuat, khdng ké thoi gian phat dé

Ngay chira:

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs
from the other three in pronunciation in each of the following questions.

Question 1:  A. sergeant B. servant C. service D. servile
Question 2:  A. massage B. carriage C. voyage_ D. dosage

Mark the letter A, B, C, or D on you answer sheet to indicate the word that differs from the rest in the
position of the main stress in each of the following questions.

Question 3:  A. attractive B. perception C. cultural D. expensive
Question 4:  A. document B. comedian C. perspective D. location

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
following questions.

Question 5: John a respectful and obedient student.
A. said to be B. is said C. is said being D. is said to be
Question 6: These quick and easy can be effective in the short term, but they have a cost.
A. solve B. solvable C. solutions D. solvability
Question 7: John is only child in his family so his parents love him a lot.
A a B. an C. the D. no article
Question 8: By the end of this week, | here for ten days
A. stay B. am staying C. will stay D. will have stayed
Question 9: He some excuse about his daughter being sick.
A. broke in B. made up C. run across D. took after
Question 10: Alex dreams of going on tour — he's just waiting for his big to get his foot in the
door of the music industry.
A. break B. cheese C. cake D. deal
Question 11: The of toothpaste are located in the health and beauty section of the supermarket.
A. pints B. tubes C. quarts D. sticks
Question 12: If the bride's father the car, she would be at the Church now.
A. has B. had C. will have D. would have
Question 13: Since Helen 10 years old, she has mastered Braille as well as the manual alphabet
and even learned to use the typewriter.
A. was B. were C. will be D. has been
Question 14: 1 like that photo very much. Could you make an for me?
A. exploration  B. enlargement C. extension D. expansion
Question 15: In state schools, students have to follow a National specified by the Ministry of
Education and Training.
A. Subject B. Curriculum C. Program D. Obligation
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Question 16: In 1959, the political philosopher Hannah Arendt became the first women a full
professor at Princeton University.

A. to appoint B. to be appointed C. was appointed D. who be appointed as

Question 17: No sooner the comer than the wheel came off.
A. the van turned B. had the van turned
C. did the van turn D. the van had turned

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete
each of the following exchanges.

Question 18: John: " You're already leaving? The ball is only starting."
- Peter: " But it's very late, so

A. It's great fun, thanks B. Take care
C. Goodbye for now D. Have a good day
Question 19: John: "Why don't we go to a baseball game?".
- Jimmy: " 7.
A. No, thanks. I'd like to sit here B. I'd rather go to the art gallery
C. It's good to play baseball D. No, I don't.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each
pair of sentences in the following questions.

Question 20: New York is described as the world's cultural centre. It is situated on the bank of Hudson
River.

A. As long as New York is described as the world's cultural centre, it is situated on the bank of
Hudson River.

B. In spite of the fact that it is situated on the bank of Hudson River, New York is described as the
world's cultural centre.

C. Because it is situated on the bank of Hudson River, New York is described as the world's
cultural centre.

D. New York, which is situated on the bank of Hudson River, is described as the world's cultural
centre.

Question 21: Sunbathing is still a popular activity. People do it even though they know it can cause
cancer.

A. Despite the fact that sunbathing can cause cancer, it is still a popular activity.
B. Because sunbathing is still a popular activity, it can cause cancer.

C. Sunbathing is still a popular activity as long as it can cause cancer.

D. Unless it can cause cancer, sunbathing is still a popular activity.

Mark the letter A, It, C, or I) on your answer sheet to iiuiicate the sentence that is closest in meaning to
each of the following questions.

Question 22: Rather than disturb the meeting, I left without saying goodbye.
A. | left without saying goodbye as I didn't want to disturb the meeting.
B. I disturbed the meeting because | said goodbye.
C. I'would rather disturb the meeting than leave without saying goodbye.
D. The meeting was disturbed as | left saying goodbye.
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Question 23: He decided not to go to university and went to work in a restaurant.
A. Despite of going to university he went to work in a restaurant.
B. Instead of going to university, he go to work in a restaurant.
C. He decided to go to work in a restaurant because he liked it.
D. He went to work in a restaurant instead of going to university.
Question 24: The secret to success is hard work.
A. Working hard ensures success. B. If you keep your work secret, you will succeed.
C. One cannot succeed if he has secrets. D. One must work hard to keep secrets.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 25 to 31.

Basic to any understanding of Canada in the 20 years after the Second World War is the country's
impressive population growth. For every three Canadians in 1945, there were over five in 1966. In
September 1966 Canada's population passed the 20 million mark. Most of these surging growth came
from natural increase. The depression of the 1930s and the war had held back marriages, and the
catching-up process began after 1945. The baby boom continued through the decade of the 1950s,
producing a been exceeded only once before in Canada's history, in the decade before 1911, when the
prairies were population increase of nearly fifteen percent in the five years from 1951 to 1956. This rate
of increase had been settled. Undoubtedly, the good economic conditions of the 1950s supported a growth
in the population, but the expansion also derived from a trend toward earlier marriages and an increase in
the average size of families. In 1957 the Canadian birth rate stood at 28 per thousand, one of the highest
in the world.

After the peak year of 1957, the birth rate in Canada began to decline. It continued falling until 1966 it
stood at the lowest level in 25 years. Partly this decline reflected the low level of births during the
depression and the war, but it was also caused by changes in Canadian society. Young people were
staying at school longer; more women were working; young married couples were buying automobiles or
houses before starting families; rising living standards were cutting down the size of families.
It appeared that Canada was once more falling in step with the trend toward smaller families that had
occurred all through the Western world since the time of the Industrial Revolution. Although the growth
in Canada's population had slowed down by 1966 (the increase in the first half of the 1960s was only nine
percent), another large population wave was coming over the horizon. It would be composed of the
children of the children who were born during the period of the high birth rate prior to 1957.
Question 25: What does the passage mainly discuss?

A. Educational changes in Canadian society \

B. Canada during the Second World War

C. Population trends in postwar Canada

D. Standards of living in Canada
Question 26: According to the passage, when did Canada's baby boom begin?

A. In the decade after 1911 B. After 1945

C. During the depression of the 1930's D. In 1966
Question 27: The word "surging" in paragraph 1 is closest in meaning to.....................

A. new B. extra C. accelerating D. surprising
Question 28: The word "trend™ in paragraph 1 is closest in meaning to...........
A. tendency B. aim C. growth D. directive
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Question 29: The author mentions all of the following as causes of declines in population growth after
1957 EXCEPT .............

A. people being better educated B. people getting married earlier
C. better standards of living D. couples buying houses
Question 30: It can be inferred from the passage that before the Industrial Revolution ..............
A. families were larger B. population statistics were unreliable
C. the population grew steadily D. economic conditions were bad
Question 31: The word "It" in the last paragraph refers to................
A. horizon B. population wave  C. nine percent D. first half

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks from 32 to 36.

All living things require energy to do the work necessary for survival and reproduction. But what is
energy? Energy is simply the ability to do work, (32) . work is done when a force moves an
object. Let's consider your own needs for a moment. You need energy to turn on and turn off your
computer. You need energy to (33) of bed in the morning. And, yes, you need energy to
reproduce. So where does energy come from and how do we use it? On Earth, energy ultimately comes
from the sun. Plants use the sun's energy to make sugar. Organisms, in turn, use sugar as a (34)
of energy to do work. Plants use energy from sunlight to make sugar and oxygen from carbon dioxide and
water. The process by which carbon dioxide and water are (35) to sugar and oxygen using
sunlight is referred to as photosynthesis. This is an endergonic reaction, meaning energy is required by
the reaction. Specifically, energy is required to put the carbon dioxide and the water molecules together to

form sugar. Sun (36) the energy needed to drive photosynthesis, and some of the energy used to
make the sugar is stored in the sugar molecule.

Question 32: A. which B. where C. that D. why

Question 33: A. get up B. wake out C. get out D. wake up

Question 34: A. degree B. scale C. source D. format

Question 35: A. purchased B. exchanged  C. removed D. converted

Question 36: A. absorbs B. transfers C. consumes D. provides

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the
underlined word(s) in each of the following questions.

Question 37: People have used coal and oil to generate electricity for a long time.

A. make B. prevent C. create D. invent
Question 38: His career in the illicit drug trade ended with the police raid this morning.
A. illegal B. irregular C. secret D. loyal

* Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to
the underlined word(s) in each of the following questions.

Question 39: She decided to remain celibate and devote her life to helping the homeless and orphans.
A. married B. separated C.single D. divorced

Question 40: There are one or two similarities between my country and the UK, but on the whole, they
are so disparate that it is difficult to find any common ground.

A. different B. identical C. distinct D. dissimilar
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Mark the letter A, B. C, or D on your answer sheet to show the underlined part that needs correction in
each of the following questions.

Question 41: The girl who were injured in the accident is now in hospital.

A. who B. were C.in D. now
Question 42: The farmer plows the fields, plants the seeds and will harvest the crop.
A. plows B. the fields C. the seeds D. will harvest
Question 43: In order to do a profit, the new leisure centre needs at least 2000 visitors a month.
A.doaprofit B.the C. at least D. a month

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 44 to 50.

Just as optical fibers have transformed communication, they are also revolutionizing medicine. These

ultra - thin, flexible fibers have opened a window into the living tissues of the body. By inserting optical
fibers through natural openings or small incisions and then threading them along the body's established
pathways, physicians can look into the lungs, intestines, heart and other areas that were formerly
inaccessible to them.
The basic fiber-optics system is called fiberscope, which consists of two bundles of fibers. One, the
illuminating bundle, carries light to the tissues. It is coupled to a high-intensity light source. Light enters
the cores of the high-purity silicon glass and travels along the fibers. A lens at the end of the bundle
collects the light and focuses it into the other bundle, the imaging bundle. Each fiber in the bundle
transmits only a tiny fraction of the total image. The reconstructed image can be viewed through an
eyepiece or displayed on a television screen. During the last five years, improved methods of fabricating
optical fibers have led to a reduction in fiberscope diameter and an increase in the number of fibers,
which in turn has increased resolution.

Optical fibers can also be used to deliver laser light. By use of laser beams, physicians can perform
surgery inside the body, sometimes eliminating the need for invasive procedures in which healthy tissue
must be cut through to reach the site of disease. Many of these procedures do not require anesthesia and
can be performed in a physician's office. These techniques have reduced the risk and the cost of medical
care.

Question 44: What is the main topic of the passage?
A. Revolution in communication B. The invention of optical fibers
C. New surgical techniques D. The roles of optical fibers in medicine

Question 45: The author uses the expression "have opened a window" to indicate that the use of optical
fibers

A. has enabled scientists to make amazing discoveries
B. sometimes requires a surgical incision
C. allows doctors to see inside the body without major surgery
D. has been unknown to the general public until quite recently
Question 46: Which of the following is closest in meaning to the word “formerly”?

A. previously  B. completely C. usually D. theoretically
Question 47: The word "them" in paragraph 1 refers to .
A. optical fibers B. pathways C. physicians D. other areas of the body
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Question 48: According to the passage, what is the purpose of the illuminating bundle in a fiberscope?
A. To carry light into the body. B. To collect and focus light.
C. To reconstruct images. D. To perform surgery inside the body.
Question 49: According to the passage, how do the fiberscopes used today differ from those used in five
years ago?
A. They use brighter light. B. They are longer.
C. They contain more fibers. D. They are larger in diameter.

Question 50: Which of the following is NOT mentioned by the author as one of the advantages of laser
surgery techniques?

A. They can be performed in a physician's office.
B. They are safer than conventional surgery.

C. They can often be performed without anesthesia.
D. They are relatively easy to teach to physicians.
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PHAN DAP AN
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PAP AN BE 1
1D 2C 3A 4D 5D 6B 7B 8D 9B 10B
11A 12B 13D 14B 15B 16C 17A 18C 19A 20B
21C 22B 23C 24D 25D 26A 27B 28C 29A 30B
31C 32D 33C 34D 35D 36D 37D 38C 39C 40B
41A 42B 43D 44A 45B 46D 47A 48D 49D 50B
HUONG DAN GIAI CHI TIET

Question 1:

Kién thirc phat am

Giai thich:

A. rough /raf/ B. sum /sam/

C. utter /" ata(r)/ D. union /'ju:nian/

Pap an D phan gach chan dugc phat &m 1a /ju:/, cac dap 4n con lai /a/

=>Pap an D

Question 2:

Kién thirc phat am

Giai thich:

A. hear /hia(r)/ B. clear /klra(r)/

C. bear /bea(r)/ D. ear /1a(r)/

Dap an C “ea” phat am la /ea/, cac dap an con lai /1o/

=>Pap an C

Question 3:

Kién thirc trong Am

Giai thich:

A. develop /di'velop/. Tr nay trong 4m roi am 2.

b. adjective /' edziktiv/. Tt nay trong am roi am 1.

C. generous /'dzenaras/. Tir nay trong am roi am 1.

D. popular /' popjala(r)/. Tir nay trong am roi am 1.

Dap an A trong am roi am 2 cac dap an con lai roi am 1.

=>Pap an A

Question 4:

Kién thirc trong Am

Giai thich:

A. punctual /' panktfual/. Ttr nay trong am roi am 1.

B. tolerant /'toloront/. Ttr nay trong am roi am 1.

C. utterance /' atorans/. Ttr nay trong am roi am 1.

D. occurrence /a'karans/. Tir nay trong am roi am 2.

Dap an d trong am roi am 2, cac dap an con lai roi &m 1 =>Pap an D
https://www.facebook.com/phithibichngocteacher 134



https://www.facebook.com/phithibichngocteacher

C6 Phi Thij Bich Ngoc Luyén Thi THPT Quéc Gia 2021

Question 5:

Kién thirc: Cau hoi dudi

Giai chi tiét:

Vé trude cau hoi dudi & dang khang dinh => cau hoi dudi dang phu dinh

1Is=>1sn’t

Lady Gaga => she

Tam dich: Lady Gaga la ca si, nhac si va nit dién vién My, diing khong?

=>Pap an D

Question 6:

Kién thirc: to V / V-ing

Giai chi tiét:

suggest + V-ing: goi y, dé nghi lam gi

suggest + (that) + S + (should) + V-nguyén thé: dé nghi, goi Y rang ai d6 nén lam gi
Sau chd tréng can dién ludn dong tir => dung V-ing

Tam dich: Chinh phu dé nghi thiét ké robot dé tiép can cac khu vuc xa xdi nguy hiém dén tinh mang cua
c4c chién si.

=>Pap an B

Question 7:

Kién thirc: Su két hop tur

Giai chi tiét:

Cum tu: pay a (/an) (+ adj) + visit: ghé tham

Nhiing tir con lai khong két hop duoc vai tir “visit” dé tao thanh nghia: ghé tham.
Tam dich: Viéc Tong thong My Barack Obama thiam chinh thic Viét Nam vao thang 5/2016 ¢ y nghia
quan trong ddi véi quan hé Déi tac toan dién song phuong.

=>Pap an B

Question 8:

Kién thirc: Tur loai — trang tir

Giai chi tiét:

O vi tri sau tobe “aren’t”, va trudc tinh tir “intelligent” (thong minh) c6 thé dién trang tir d&é bd nghia cho
tinh tur.

A. necessity (n): su can thiét

B. unnecessary (adj): khéng can thiét

C. necessary (adj): can thiét

D. necessarily (adv): mot cach can thiét

Tam dich: Hoc sinh gioi khdng nhat thiét phai la hoc sinh théng minh.

=>Pap an D

Question 9:

Kién thirc: Cum ddng tir

Giai thich:

A. catch up with: bt kip, dudi kip B. put up with: chiu dung

C. keep up with: bat kip, dudi kip D. nay ra y tuong)

Tam dich: Mic du anh 4y 1a ban tdi, t6i van khé ma chiu dung duoc tinh ich ki cia anh ta
=>PapanB
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Question 10:
Kién thirc: Ngir phéap vé thi
C6 thai gian cu thé nén chia thi qua khir don
Tam dich: Viér Nam da bdt dau théng bdo déng cira todn quéc dé chién dau véi COVID-19 vao ngay
1/4/2020
=>Pap an B
Question 11:
Kién thirc: Tir vieng
Giai thich:
A. self-conscious (a): rut re, tu ti B. self-satisfied (a): tw man
C. self-directed (a): c6 dinh hudng D. self-confident (a): tu tin
Tam dich: Paul la nguoi rdt rut ré, anh dy chiea bao gic thodi mai véi nguoi la
=>Pap an A
Question 12:
Kién thirc: Ménh dé quan hé rut gon
Giai thich:
* Céu c6 chu nglr chinh (many of the pictures) va dong tir chinh (are) nén dong tir phia sau chi nghia
la ménh dé quan hé rat gon. Néu ¢ dang chii dong sé chuyén thanh V-ing, bi dong chuyén thanh V-ed, c3.
Tam dich: Rat nhiéu bite tranh dwroc gii tir ngodi khéng gian dang dwoc trung bay ¢ thuw vién cong cong
=>Pap an B
Question 13:
Kién thirc: Cum tir
Céu truc: congratulate somebody on doing something: chlic mung ai d6 vi diéu gi
Tam dich: John chlic ming chiing t6i dé virot qua Ki thi véi diém so cao
=>Pap an D
Question 14:
Kién thirc vé cum co dinh
Ta c6 "To plead guilty: nhan la c6 toi"
Tam dich: Bj cao nhdn la c6 toi.
=>Pap &n B
Question 15:
Kién thirc vé lién tir
A. So that: ¢é ma B. Although: mac du
C. Because: boi vi D. As soon as: ngay sau khi
Dich: Du chwa ¢6 nhiéu kinh nghiém nhiing ho so ciia ho da dwot duyét.
=>Pap an B
Question 16:
Giai thich:
Dao ngir voi “only after”: Only after + S1 + V1, tro dong tir + S2 + V2
Céau bi dong vai “should”: should be P2 (nén duoc lam gi)
Tam dich: Chi sau khi db an duoc say kho hoic dong hop, nd nén dugc bao quan dé sir dung vé sau.
=>Pap an C
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Question 17:

Kién thirc: Ngon ngit giao tiép

Giai chi tiét:

Jenny va Kathy dang sap xép dé di xem mot bo phim méi.
- Jenny: "Sao cau khéng qua xem phim méi véi té nhi?"

- Kathy: " "

A. That tuyét, té rat thich. B. O, t6 e 1a vay.

C. Khéng c6 gi déu. D. Cha! Cau da khong nhén ra diéu do.
Chi c6 phan hdi A 1a pht hop nhat.

Question 18:

Kién thirc: Ngbn ngit giao tiép

Giai chi tiét:

Helen va Sarah dang néi vé chuyén di thuc té caa truong ho.

- Helen: "Pay 1a chuyén di thuc té tuyét voi nhat ma ching ta timg c6 day."

- Sarah: " . Moi nguoi déu tan huong ndé mot cach tron ven nhat."

A. Té khong nghi d6 1a mot y kién hay

B. T4 hoan toan khong dong y

C. Cau dung rdi day

D. Bung ban tam

Chi ¢6 phan hdi C la pht hop nhét.

Question 19:

Giai thich:

Cau goc: Anh 4y da rat tac gian voi dng chii caa minh. Anh y bo viéc ngay 1ap tic.
A. Gian sép, anh ta bo viéc ngay lap tirc. — rdt gon véi hai ménh dé c6 cing chi ngir
B. Anh dy bo viéc ngay lap tic, tic gian véi sép caa minh. = sai ngit phép

C. Tuc gian voi 6ng chu ciia minh, anh ta dd bo viéc ngay lap tac. — sai ngit phép, ta khéng cd cau trdc
“adj + s + be” dirng dau cau

D. Anh 4y rat tirc gian véi sép ciia minh mic du di bo viéc ngay 1ap tirc. — sai nghia
— Chon dap an A

Question 20:

Cau gbc: Anh ay khong thich ra ngoai. Anh ay khéng mai bat ky ban bé nao vé nha.
A. Anh 4y di choi hodc moi ban bé vé nha. = sai nghia

B. Anh 4y khong di choi ciing khong moi ban bé ndo vé nha. = cau trac neither A nor B: khong A ciing
khong B.

C. Anh dy khdng chi di choi ma con mdi bat ky ngudi ban ndo vé nha. — sai nghia
D. Anh 4y di choi nhung khong moi ban bé ndo vé nha. = sai nghia

— Chon dap 4an B
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Question 21:

Kién thirc: Ngir phap

A. Luisa c0 thé da rat that vong khi 6 y truot ky thi.

B. Luisa chac han phai rat that vong khi co 4y truot ky thi.

C. Luisa chéc han da rat that vong khi ¢6 ay truot ky thi.

D. Luisa c6 thé rat thit vong khi cd 4y truot ky thi.

Tam dich: T6i chdc chdn rang Luisa da rat that vong khi ¢d dy trueot ky thi
— Chon dap an C

Question 22:

Kién thirc: Ngir phap

= Because + ménh dé/ because of + N/V-ing: vi

= Inspite of/ Despite + N/V-ing: mac du

= Although + ménh dé: mic du

— Phuong an A, C, D sai cau trdc ngix phap

Tam dich: Thoi tiét rat nong. Nhieng cdu bé van tiép tuc choi béng da ¢ sdn truong.
— Chon dap an B

Question 23:

Kién thirc: CAU tric bi dong kép

= CAu trdc bj dong kép c6 dong tir chinh & thi hién tai:

S + am/is/are + though/ said/ supposed...+ to + Vinf

Tam dich: Moi nguwoi nghi Samba la diéu nhay phé bién nhat ¢ Brazil.
— Chon dap an C

Question 24:

Kién thirc: Poc hiéu —y chinh

Giai chi tiét:

Tiéu d& nao 1a phu hop nhét cho bai doc?

A. Chinh phu Nepal trong nd luc giam bt binh dang x& hoi.

B. Hon nhan tré em - Mot van dé kho giai quyét & Nepal.

C. Chién luoc Nepal dé thiét Iap bao vé tré em.

D. M¢t loai lam dung tré em ¢ Nepal: H6n nhan tré em.

Thoéng tin: Nepal has made important progress over the past few years to promote equality, but the
country still has one of the highest rates of child marriage in the world. 41% of Nepalese girls are married
before the age of 18... Nepalese families that do not have enough food to eat are more likely to marry

their daughters at a young age to decrease the financial burden.

Tam dich: Nepal di dat dugc nhitng tién bo quan trong trong nhitng nim qua nham thiic day su binh
dang, nhung qudc gia ndy van 1a mot trong nhiing qudc gia co ty 1é tao hon cao nhit thé gidi. 41% tré em
gai Nepal két hon trude 18 tudi... Cac gia dinh Nepal khong du an thuong cho con gai di két hdn khi con

tré dé giam ganh nang tai chinh.
=>Pap an D
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Question 25:

Kién thic: Doc hiéu — chi tiét

Giai chi tiét:

Theo doan 2, & Nepal, cac cd géi tir cac gia dinh nghéo kho .

A. dong mét vai trd quan trong trong viéc cang cé tai chinh gia dinh cua ho

B. ¢6 thé két hon muodn hon hai nim so véi cac ¢o gai trong gia dinh nghéo

C. bi budc thdi hoc vi bé me khdng c6 tién

D. phai két hon sém hon cac c¢o gai trong gia dinh giau c6

Thong tin: Girls from the wealthiest families marry 2 years later than those from the poorest, ...

Tam dich: Nhiing c¢6 gai thudc cac gia dinh giau nhat két hén mudn hon 2 nim so véi nhiing ¢ géi thudc
nhém nghéo nhét, ...

=>Pap an D

Question 26:

Kién thirc: Poc hiéu — tir thay thé

Giai chi tiét:

Tir “those” trong doan 2 thay thé cho

A. céc cb gai

B. nam

C.tylé

D. gia dinh

Thoéng tin: Girls from the wealthiest families marry 2 years later than those from the poorest, who are
seen as an economic burden, and who drop out of school and earn little money.

Tam dich: Nhitng cd géi thuc cac gia dinh giau nhat két hdn muoén hon 2 nim so véi nhitng cd gai
thuoc nhém ngheo nhat, nhimg nguoi dugc coi 1a ganh nang kinh té va nhimg ngudi bo hoc va kiém dugc
it tién.

=>Pap an A

Question 27:

Kién thirc: Poc hiéu — tir vung

Giai chi tiét:

Tur “burden” trong doan 3 ¢6 nghia gan nhat voi tir

burden (n): ganh nang

A potency (n): hiéu lyc, quyén thé B. load (n): vat nang, ganh nang

C. cargo (n): hang hda D. issue (n): dé tai, vin dé

=> burden = load

Thoéng tin: Nepalese families that do not have enough food to eat are more likely to marry their daughters
at a young age to decrease the financial burden.

Tam dich: Cac gia dinh Nepal khong du an thuong cho con gai di két hon khi con tré dé giam ganh ning
tai chinh.

=>Pap an B
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Question 28:

Kién thiec: Doc hiéu — tir vung

Giai chi tiét:

Tir “imprisonment” trong doan 3 ¢6 thé duoc thay thé tot nhat bai tir

imprisonment (n): phat tu

A. salvation (n): su bao vé, su ctru giup

B. custody (n): su cham séc, s gidm ho

C. detention (n): su giam cam, sy cam t

D. emblem (n): cai biéu tuong

=> imprisonment = detention

Thong tin: The law states that punishment for child marriage is imprisonment for up to three years and a
fine of up to 10,000 rupees (£102).

Tam dich: Luat quy dinh rang hinh phat cho toi tao hon 1a phat t0 téi 3 ndm va phat tién 1én téi 10.000
rupee (102 bang Anh).

=>Pap an C

Question 29:

Kién thirc: Doc hiéu — chi tiét

Giai chi tiét:

Theo doan vin, phat biéu nao sau ddy KHONG dung?

A. Cha me cho con cua ho két hon trudc tudi cho phép thudng phai nop phat.

B. Tudi két hon & Nepal phu thudc vao sb tién ma cac gia dinh co.

C. Theo luat, néu moi ngudi dugc cha me caa ho cho phép, ho dugc phép két hon nim 18 tudi.

D. Cac gia dinh Nepal c6 xu huéng cho con géi cia ho két hon khi con tre.

Thong tin: The law states that punishment for child marriage is imprisonment for up to three years and a
fine of up to 10,000 rupees (£102). But reports suggest that this law is rarely applied.

Tam dich: Luat quy dinh rang hinh phat cho toi tao hon la phat t0 téi 3 ndm va phat tién 1én téi 10.000
rupee (102 bang Anh). Nhung cac bao cdo cho thay luat nay hiém khi duoc ap dung.

=> A khong dang vi ngoai phat tién thi ho con bi ngéi ti nira.

=>Pap an A
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Question 30:

Kién thirc: Poc hiéu — suy luan

Giai chi tiét:

Diéu gi cd thé dugc suy ra tir bai doc

A. Nepal cd ty 1& két hon tré em cao nhit thé gioi

B. Tran dong dét gan déy thi tiéu cuc toi viéc x6a bo hdn nhan & tré em

C. Gia dinh muén cuéi con géai s6m dé kiém tién

D. Chinh phu khéng 1am gi nhiéu dé cham dat hon nhan tré em

Thoéng tin: However, the post-earthquake and post-fuel crisis environment has meant progress is slow
and the national strategy has been delayed.

Tam dich: Tuy nhién, hoan canh sau dong dat va hau khang hoang nhién liéu cé nghia 14 tién do s& cham
lai va chién lugc qudc gia di bi tri hodn.

=>Pap an B

Dich bai doc:

Nepal di dat dugc nhitng tién bo quan trong trong nhitng nim qua nham thuc dy sy binh dang, nhung
qudc gia nay van la mot trong nhiing qudc gia co ty 1¢ tao hon cao nhat thé gisi. 41% tré em gai Nepal két
hén trude 18 tudi.

Ngheo doi vira Ia nguyén nhén vira 1a hau qua cua nan tao hén & Nepal. Nhirng ¢ gai thudc cac gia dinh
giau nhat két hén muon hon 2 nam so vai nhitng ¢d géi thuoc nhém nghéo nhat, nhitng nguoi duoc coi la
géanh nang kinh té va nhitng ngudi bo hoc va kiém duoc it tién.

Vén d& mat an toan thuc pham ciing déng mot vai trd quan trong. Céac gia dinh Nepal khong du an thuong
cho con gai di két hon khi con tré dé giam ganh nang tai chinh. Mot nghién ctu cho thdy 91% nhiing
ngudi duoc tiép can thuc pham an toan da két hon trén 19 tudi.

Cua hdi mon ciing 1a mot thuc té phd bién ¢ nhiéu cong ddng. B6 me ga con gai cang sém cang tét vi s6
tién ho phai tra cho nha trai s& cao hon néu con gai I6n hon. Ké tir nam 2010, tudi két hén hop phéap 1a 20
tudi ddi véi ca nam va nit, hoac 18 tudi vai su dong ¥ caa cha me, theo Bo luat Quéc gia Nepal.

Luat quy dinh rang hinh phat cho tgi tao hon Ia phat tU téi 3 ndm va phat tién 1én téi 10.000 rupee (102
bang Anh). Nhung cac bao céo cho rang luat nay hiém khi duoc ap dung. Pa c6 kha nhiéu tién bo & Nepal
trong 3 nam qua v&i cam két rd rang cua chinh phu vé viéc chim dt tao hdn va hop tac xa hoi dan su. Bo
Phu nit, Tré em va Phic lgi x& hoi hién dang phat trién chién lugc qudc gia dau tién caa Nepal vé tao hon
véi su hop tac cua UNICEF Nepal va Girls Not Brides Nepal (Con gai Nepal, khong phai c6 dau). Tuy
nhién, hoan canh sau dong dit va hau khung hoang nhién liéu co nghia 1a tién d6 s& cham lai va chién
luoc qudc gia di bi tri hodn.
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Question 31:

Kién thirc vé cum tir ¢6 dinh

* Ta ¢ cum “do harm to: gay hai dén cai gi?

Thong tin: The issue is whether this technological innovation has done more harm than good.

Tam dich: Vén d@é 1a liéu su doi méi cong nghé nay c6 gay hai nhiéu hon loi hay khong.

— Chon dap an C

Question 32:

Kién thirc vé ménh dé quan hé

* “parents” la danh tir chi nguoi = chon “who” vi “who +V”; whom + S +V

Thong tin: In order to answer the question, we must first turn to the types of consumers. Presumably,

most parents who are always worrying about their children's safety buy mobile phones for them to track
their whereabouts.

Tam dich: Dé tra loi cAu hdi, trwedc tién ching ta phai chuyén sang cac logi nguroi tiéu ding. C6 1€, hau
hét cac bdc cha me ludn lo ldng vé sy an toan cua con cai ho mua dién thoai di dong dé theo dbi noi ¢
cua ho.

— Chon dap an D

Question 33:

Kién thirc vé lién tir

A. Moreover: thém vao d6 B. Therefore: vi vay C. However: tuy nhién  D. So that: dé ma

Thong tin: We can also assume that most teenagers want mobile phones to avoid missing out on social
contact. In this context, the advantages are clear. However, we cannot deny the fact that text messages
have been used by bullies to intimidate fellow students.

Tam dich: Chiing ta ciing ¢6 thé cho rang hau hét thanh thiéu nién muén dién thoai di déng dé tranh bo
15 lién lgc x& hgi. Trong boi canh nay, nhitng loi thé 1a rd rang. Tuy nhién, ching ta khéng thé phii nhan
theec té 12 tin nhdn van ban da bi nhing ké bat nat sir dung dé de doa céc sinh vién.

— Chon dap an C

Question 34:

Kién thirc vé tir vung

A. arguable (a): con phai ban c&i, con nghi van B. doubtless (a): khéng con nghi ngo gi nira
C. unhesitating (a): khong do du, qua quyét D. indisputable (a): khéng thé tranh c4i, hin la

Thong tin: There is also indisputable evidence that texting has affected literacy skills.

The widespread use of mobile phone has, out of question, affected adult consumers too. What employee,
on the way home from work, would be reluctant to answer a call from their boss? Apparently, only 18%
of us, according to a survey, are willing to switch off our mobile phones once we've left the office.

Tam dich: Ngoai ra con c6 bang chizng khong thé chéi ci rang nhan tin da dnh hiedng dén Ky nang doc
viét.

Viéc sir dung rong rai dién thoai di dong, khdng con nghi ngo i nita, ciing dnh hwéng dén nguoi tidu
ding truong thanh. Nhan vién nao, trén dwong di lam vé, Sé mién cuong tra 1oi cuge goi tir sép cua ho?
R& rang, chi c6 18% trong sé ching ta, theo mét cugc khdo sét, san sang tdr dién thoai di déng cua ching
ta sau khi chdng ta roi van phong.

— Chon dap an D
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Question 35:

Kién thirc vé cum tir ¢ dinh

Ta c6 cum “at short notice”: khong 1au trude d6, khong co canh béo hozc thoi gian chuan bi

Thong tin: Admittedly, mobile phones can be intrusive but there are obvious benefits to possessing one.

Personally speaking, they are invaluable when it comes to making social or business arrangements at
short notice. They also provide their owners with a sense of security in emergency situations.

Tam dich: Phdi thiza nhdn rang, dién thogi di dong c6 thé gay khé chiu nhung cé nhiig loi ich rd rang
khi s¢ hizu nd. Theo ca nhan ma ndi, chdng rat cé gia tri trong viéc sap xép xa héi hogc kinh doanh trong
thoi gian ngdan. Ho ciing cung cap cho chi sé hitu ciia ho mét cam giac an toan trong céc tinh husng
khan cap.

— Chon dap an D

DICH BAI PQOC

Viéc phat minh ra dién thoai di dong chic chin di tao ra mot cudc cach mang trong cach moi ngudi
giao tiép va anh huong dén moi khia canh cudc sdng cia ching ta. Van dé 1a liéu sy d6i méi cong nghé
nay c6 gay hai nhiéu hon lgi hay khong. Dé tra 1o cau hoi, trudc hét chiing ta phai tim hiéu vé céc loai
ngudi tieu ding. CO 18, hau hét cac bac cha me ludn lo ling vé su an toan cua con cai ho déu mua dién
thoai di dong dé ho theo dbi tung tich ciia minh. Ching ta ciing ¢6 thé gia dinh rang hau hét thanh thiéu
nién muédn cé dién thoai di dong dé tranh bo 15 c&c giao tiép x& hoi. Trong bdi canh nay, nhitng loi thé 13
rd rang. Tuy nhién, ching ta khdng thé pha nhan mét thuc té 1 tin nhin di dugc nhiing ké bat nat s
dung dé de doa cac ban hoc sinh. Ciing ¢6 bang chiing khong thé chéi céi rang viéc nhén tin di anh huong
dén k¥ nang doc viét,

Ngoai ra, viéc sir dung dién thoai di dong rong réi da anh huong dén nguoi tiéu dung truong thanh. Trén
duong di 1am vé&, nhan vién nao lai mién cudng tra 1i cudc goi tir sép cua ho? RS rang, chi 18% trong s6
chiing ta, theo mot cudc khao sat, sin sang tat dién thoai di dong khi ching ta roi van phong.

Phai thira nhan rang dién thoai di dong cd thé bi xdm nhap nhung c6 nhiing lgi ich rd rang khi so hitu
chdng. Ca nhan ma néi, ho 1a vo gia khi cé thé thyc hién cac thoa thuan x& hoi hoic kinh doanh trong thoi
gian ngan. Ching ciing cung cap cho chi sé hitu cam giac an toan trong cac tinh huéng khan cap.
Question 36:

Kién thirc: Cum dong tir

Giai chi tiét:

tough (sth) out: to stay strong and determined in a difficult situation (chiu dung véi quyét tm cao)
A. rén luyén dé tré nén cing ran hon

B. ddi pho véi su ngu ngdc caa chinh ban

C. khéng co lva chon nao khac ngoai xoay s&

D. ¢b gang tré nén manh mé hon

=> to tough it out = to try to become stronger

Tam dich: "To6i da bo 16 thoi han huy bo mén hoc ma tdi ghét.”

"0, t61 doan ban s& phai chiu dung n6 va manh mé hon cho dén khi két thic hoc ky."
=>Pap an D
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Question 37:

Kién thirc: Tir veng

* Paid: Puoc tra

* Divided: Pugc chia ra

* Depended: Bi phu thuoc

* Required: Bi yéu cau, doi hoi

Tam dich: Pong phuc hoc sinh 1 bdt bugc ¢ hau hét cdc trieong hoc Viét Nam.

— Chon dap 4n D.

Question 38:

Kién thirc: Tir vung

Giai chi tiét:

resilient (adj): nhanh phuc héi, kién cuong

A. phuc hdi nhanh chéng

B. khée manh tro lai

C. phuc héi cham

D. tré nén manh mé hon nhiéu

=> resilient >< making a slow recovery

Tam dich: Nghién cau cho thay rang tré em nhanh phuc hdi hon ngudi 16n khi hdi phuc khoi bénh tat.
=>Pap an C

Question 39:

Kién thirc cum tir

Giai thich:

A. Néu y kién B. Nhan duoc su tan duong, cong nhan

C. Thé hién sy phan dbi D. Giai quyét xung dot

* Speak highly of: Panh gia cao >< Express disapproval of

Tam dich: Ca 2 truong dai hoc déu danh gia cao chwong trinh sinh vién trao ddi va hy vong c6 thé hop
tac thém trong tuong lai.

— Chon dap an C

Question 40:

Tam dich: Can nhiéu nghién ctru hon dé tim ra xem liéu cham ctiu c6 thé gidp giam cac tac dung phu
nhu giam dau, 10 4u hay tho doc hay khéng.

Sira 16i: is helped — can help

— Chon dap 4n B

Question 41:

« Provide = providing (vi dang trudc c6 “as well as” ndi tir “promoting” va “provide” nén tir “provide”
phai dong dang véi dong tu trude do)

Tam dich: Muc dich cia ASEAN la phét trién nén kinh té, sy hoa binh khu vuc ciing nhu tao co hdi cho
cac nudc thanh vién.

— Chon dap an A.
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Question 42:
* Pay someone a compliment: khen ngoi ai d6
Tam dich: C6 4y phan nan rang chong cd iy chang bao gio khen ngoi c¢6 ay mot cau.
Sira 16i: any complements — any compliments
— Chon dap an B
Question 43:
Giai thich:
Poan vin chii yéu ban vé vén dé gi?
A. Nhitng yéu té gay 6 nhiém khong khi cd thé gay hai dén mirc nao
B. Anh huéng caa nhitng hop chit dugc thém vao khdng khi
C. Cai gi hinh thanh nhiing nhan té gay 6 nhiém khéng khi
D. Anh huéng Ién kinh té caa 6 nhiém khong khi
Doan 1 giGi thiéu vé “air pollutant”
Poan 2 ndi vé “natural pollutants” va doan 3 ndi vé “pollutants” do con ngudi gay ra cling cac thong tin
lién quan.
Do do6 D 1a dap an diang
=>Pap an D
Question 44:
Giai thich:
Tir adversely gan nghia nhat véi tir:
A. negatively (adv): tiéu cuc B. quickly (adv): nhanh
C. admittedly (adv): thtra nhan D. considerably (adv): dang ké
=> adversely = negatively (adv)
Tam dich: An air pollutant is defined as a compound added directly or indirectly by humans to the
atmosphere in such guantities as to affect humans, animals, vegetation, or materials adversely. (Mét tac
nhan gay 6 nhiém khong khi dwoc dinh nghia la mét hop chat bj thai vao khéng khi truc tiép hogc gian
tiép bai con ngueoi Véi $6 liwong dii dé anh hwong dén con nguwoi, déng vat, thic vat hay nhirng nguyén
ligu khdc mér cdach day bat loi.)
=>Pap an A
Question 45:
Giai thich:
Tir these trong doan 2 gan nghia nhat voi:
A. nhiing hop chét chuyén tir dén nudc hoic dat
B. nhitng thanh phan trong tuan hoan héa sinh
C. nhitng chat gay 6 nhidm tir trai dat dang phat trién
D. nhirng sy phan tng hoa hoc khac nhau
Thong tin: As the Earth developed, the concentration of these pollutants was altered by various chemical
reactions; they became components in biogeochemical cycles. These serve as an air purification scheme
by allowing the compounds to move from the air to the water or soil. (Khi Trdi Pdt phét trién su tdp
trung vao c&c nhan tot gay 6 nhiém nay bi thay déi bai cac phdn ing hda hoc, ching tré thanh phan ti
nam trong chu ky héa sinh. Nhiing phdan tiz ndy hoat dong nhw mét chu trinh 1am sach khong khi bang
cach cho phép céc hop chdt nay di chuyén tir khéng khi sang miede hay dat) => Dap 4n B
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Question 46:

Giai thich:

Vi ¥ do nao dudi day, nhieng chat gay 6 nhiém tu nhiém déng 1 vai tré quan trong trong viéc diéu chinh
6 nhiém khong khi?

A. chung da ton tai tir khi trai dat phat trién

B. Ching xay ra ¢ s6 lwong 16n hon nhirng chat gay 6 nhiém khéc

C. Chling it gay hai cho cudc song hon nhiing chat gay 6 nhiém khac

D. Chiing c6 vai tro nhu 1 phan cua quéa trinh 1am sach

Thoéng tin: [the concentrations of these pollutants were altered by various chemical reactions; they
became components in biogeochemical cycle. These serve as an air purification scheme]

(s tdp trung vao cac nhan té gay 6 nhiém nay b;i thay déi béi cac phan ing héa hoc, chiing tré thanh
nhizng phan tiz nam trong chu ki héa sinh. Nhing phan ti nay hoat déng nhw mét chu trinh 1am sach
khong khi)

=>Pap an D

Question 47:

Giai thich:

Theo doan van, 6 nhiém khéng khi do con nguoi tao ra ¢ cac khu vic chuyén mén hoa

A. 6 thé ap dao hé thong tu nhién loai bo cac chat gay 6 nhigm.

B. ¢6 thé bi lam it di bai nhitng chat gay 6 nhiém ngoai ty nhién.

C. s& gay hai khu vuc bén ngoai mot noi nhét dinh.

D. s& phan &ng gay hai dén nhitng chat 6 nhidm tu nhién.

Thoéng tin: “In such a region, human output may be dominant and may temporarily overload the natural
purification scheme of the cycles”: O nhitng viing nhw vdy, chat thdi ciia con nguwoi qué nhiéu va co thé
tam thoi qua tai dp dao chwong trinh thanh loc ti nhién cua chu trinh.

Chu trinh dugc néi dén & trén 1a chu trinh thanh loc nhiam loai bo khi 6 nhidm.

=>Pap an A

Question 48:

Giai thich:

Theo doan van, gid tri S6 ciia mic nong dé cia mét chat chi hizu ich néu .

A. n6 nam trong mot khu vuc tach biét B. cé4c chat khac trong khu vuc dugc biét dén

C. n6 c6 thé duoc tinh toan mot cach nhanh chong  D. mirc d6 tu nhién ciing duoc biét dén

Thong tin: in fact, the numerical value tells us little until we know how much of an increase this
represents over the concentration that would occur naturally in the area. (thuc té, gia tri vé mat sé
ligu cho ching ta biét rdt it cho dén khi ching ta biét nhing con sé nay biéu thi cho mize dé gia ting Ion
nhur thé ndo dira VA0 Sy tdp trung xdy ra tu nhién trong khu viec)

=>Pap an D
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Question 49:

Giai thich:

Tir detectable trong doan 3 gan nghia nhdt Véi :

A. beneficial (a): c6 ich B. separable (a): ¢ thé tach roi

C. special (a): dic biét D. measurable (a): c6 thé do dém duoc

=> detectable (a): c6 thé tinh duoc, co thé tim thdy = D. measurable

Tam dich: For example, sulfur dioxide has detectable health effects at 0. 08 parts per million (ppm),
which is about 400 times its natural level. (Vi dy, SO2 va nhing dnh hwong sirc khée c6 thé tim thay ¢
mute dé 0.08 ppm, gap 400 lan miee dé binh thirong)

=>Pap an D

Question 50:

Giai thich:

Cdu nao sau ddy dwoc hé tro tét nhdt béi doan van?

A. 1 trong s6 nhirg budc quan trong nhat cua viéc bao ton dat ty nhién 1a cang ¢ luat & nhiém khdng khi
tot hon.

B. Nhiing hoat d6ng ciia con ngudi da mang dén hiéu qua trong viéc giam 6 nhiém.

C. Pé kiém soat hiéu qua 6 nhiém, chinh quyén dia phuong nén thuong xuyén nhin lai luat 6 nhiém
khong khi.

D. Nhitng nha khoa hoc nén duoc tham khao dé thiét 1ap nhiing gii han dong déu cho tat ca nhitng chat 6
nhiém khong khi.

DAan chieng: Ca bai n6i vé “pollutants va pollutants do con ngudi thai vao méi truong. Nghia 13 quy két
trach nhiém truc tiép cho con ngudi. Y ¢6 thé duoc ung ho boi doan vian chinh 1a cac hoat dong cua con
nguoi mang lai tinh hiéu qua trong viéc giam 6 nhiém khong khi.

=>Pap an B
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DAP AN DE 2

1A 2A 3C 4A sD 6C 7C 8D 9B 10A

11B 12B 13A 14B 15B 16B 17B 18C 19B 20D

21A 22D 23A 24A 25C 26B 27C 28A 29B 30A

31B 32B 33C 34C 35D 36B 37A 38A 39A 40B

41B 42D 43A 44D 45C 46A 47C 48A 49C 50D

HUONG DAN GIAI CHI TIET

Question 1:

Kién thirc phat am

Giai thich:

A. sergeant /'sa:dzont/ B. servant /'s3:vant/
C. service /'s3:vis/ D. servile /'s3:vail/

Dap an “er” phat am la /a:/, cac dap an con lai /3:/

=>Pap an A

Question 2:

Kién thirc phat am

Giai thich:

A. massage /'masa:3/ B. carriage /' kaerids/

C. voyage /'vouds/ D. dosage /'dousid3/

Dap an “age” phat am la /a:3/, cac dap an con lai /1d3/

=>Pap an A

Question 3:

Kién thirc trong am

Giai thich:

A. attractive /o'traektiv/. Tir ndy trong 4m roi 4am 2. Vi dudi “ive” khong lam thay di trong am cua tir gc
la “attract” mdt dong tu roi am 2.

B. perception /pa’sepfn/. Tt ndy trong am roi am 2. Vi dudi “ion” lam trong 4m roi vao am trudc no.
C. cultural /"kaltforal/. Ttr ndy trong am roi am 1.

D. expensive /ik 'spensiv/. Ttr nay trong am roi &m 2.

=>Pap an C

Question 4:

Kién thirc trong Am

Giai thich :

A. document /' dokjumant/. Ttr nay trong am roi am 1.

B. comedian /ka'mi:dion/. Tur nay trong am roi am 2.

C. perspective /pa‘spektiv/. Tir ay trong am roi am 2.

D. location /lau'kerfn/. Twr nay trong am roi am 2. Vi dudi “ion” lam trong 4m roi vao am trudc no.
=>Pap an A
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Question 5:

Kién thirc vé cau bi déng

Ta c6 cong thtc cau bi dong kép vai cau trdc: S be Ved that S V"

Dich: John dwoc cho 1a hoc sinh ngoan va biét kinh trong bé trén.

— Chon dap an D

Question 6:

Kién thirc vé tir loai

Chd tréng can dién mot danh tir vi trude né 12 tinh tir nén dap an A, B sai.
Dép an D khong phu hop vé nghia.

Dich: Nhing gidi phap nhanh chdéng va dé dang nay cd thé hiéu qud trong ngdn han, nhung chiing phdi
tra phi.

— Chon dap 4an C

Question 7:

Kién thirc vé mao tir.

Dung mao tir xac dinh “the” truéc so sanh cuc cap, trudc "first” (thr nhat), "second” (tht nhi), "only"
(duy nhat), .... khi cac tir ndy duoc dung nhu tinh tir hay dai tu.

Tam dich: John la nguwoi con duy nhdt trong gia dinh nén bé me yéu cdu dy rat nhiéu.
— Chon dap an C

Question 8:

Kién thirc vé chia dong tir

Ta dung thi twong lai hoan thanh dé dién ta mot hanh dong s& xay ra trong tuong lai trugc mot thoi
diém/mot hanh dong khéc trong tuong lai

Dau hiéu nhan biét: by + mdc thoi gian trong tuong lai

Tam dich: Pén cudi tudn nay, t6i sé & day dwoc 10 ngay roi.

— Chon dap an D

Question 9:

Kién thirc: Cum dong tur

Giai chi tiét:

A. broke in (break in): dot nhap

B. made up (make up): bia ra

C. run across: tinh co gap/thay

D. took after (take after): trong gidng (ai trong gia dinh)

Tam dich: Anh ta bja ra mot Iy do nao d6 vé viéc con gai minh bi 6m
=>Pap an B

Question 10:

Kién thirc: Thanh ngi

Giai chi tiét:

a big break/chance: co hoi 16n (co may ddi doi)

a big cheese: nhan vat quan trong

a big cake: mot cai banh to

a big deal: 1am nhu ghé gém ldm (thuong ding: Big deal! (ghé nhi)

https://www.facebook.com/phithibichngocteacher 149


https://www.facebook.com/phithibichngocteacher

C6 Phi Thij Bich Ngoc Luyén Thi THPT Quéc Gia 2021

Tam dich: Alex mo u6c duge di luu dién - anh iy chi dang chd co may 16n cua minh dé dit chan vao
canh ctra cia nganh cong nghiép am nhac.=> Pap an A

Question 11:

Kién thirc: Tir vung

Giai chi tiét:

A. pints: panh (don vi do chét 16ng)

B. tubes: tuyp

C. quarts: don vi do thé tich

D. sticks: gay, can du

Tam dich: Nhitng tuyp kem danh rang nam trong khu vuc sirc khoe va sic dep cua siéu thi

=>Pap an B

Question 12:

Kién thirc: Cau diéu kién loai 2

Giai chi tiét:

DAu hiéu: dong tir trong ménh dé chinh (khdng cha “if”) chia dang “would + V-nguyén thé”: would be
Céc dap an dé bai cho khong c6 dap an nao dang thi quéa khtr hoan thanh (had had) nén khdng phai la cau
diéu kién tron / hdn hop 3 — 2.

Cach dung: dién ta diéu kién trai voi hién tai dan dén két qua trai véi hién tai

CAu tric: If + S + V-qué khtr don, S + would + V-nguyén thé

Tam dich: Néu bé ciia ¢6 dau c6 6 t0, cd 4y s& c6 mat tai Nha tho ngay bay gio roi.

=>Pap an B

Question 13:

Kién thirc: Sy phéi hop thi

Giai chi tiét:

Cau trtc két hop thi qué kha don & hién tai hoan thanh trong cau:

Since + S + V-quéa khtr don, S + V-hién tai hoan thanh (have/has + P2): Ké tir khi ...

Chu ngir “Helen” s6 it => tobe dung “was”

Tam dich: Tur khi Helen 10 tudi, ¢6 da thanh thao chit ndi Braille ciing nhu bang chir cai thi cong va
tham chi con hoc céch sir dung may danh chir.

=>Pap an A

Question 14:

Kién thirc: Tir veng

A. exploration: su kham pha

B. enlargement: sy phong to

C. extension: su gia han

D. expansion: sy mo rong

Tam dich: T6i rat thich bizc dnh dé. Ban c6 thé phéng to né cho t6i?

— Chon dap 4an B

Question 15:

Kién thirc: Tir veng

= National curriculum: chwong trinh giang day quéc gia
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Tam dich: O cdc truong cdng ldp, hoc sinh phdi theo hoc chirong trinh giang day quéc gia do Bg

giao duc va dao tao quy dinh
— Chon dap an B
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Question 16:

Kién thirc: RGt gon ménh dé quan hé

= Néu danh tir dimg trudc ¢ chira cc tir bd nghia nhu: the first, the second...(chi $6 thir tw), the only/ the
last, ... thi ta rit gon bang cach lugc bo dai tir quan hé va dong tir chia & dang To V( chi déng), hoic To
be V-ed (bi dong)

Tam dich: Vao 1959, nha triét gia chinh tr; Hannah Arendt tré thanh nguwoi phu nit dau tién dweoc bé
nhiém lam gido sw tai truong dai hoc Princeton.

— Chon dap an B

Question 17:

Kién thirc: dao ngir

CAu trac No sooner ...than = Vira méi...thi da...

Cong thirc: No sooner + auxiliary + S+ V +than + S+ V

Chi dung cho thi qua khir va hién tai.

Ex: No sooner had we started out for California than it started to rain. (past)

Ex: No sooner will he arrive than he want to leave.

Tam dich: Khi chiéc xe vira ré vao goc cua thi banh xe cia né da bi ldt.

=>Pap an B

Question 18:

Tinh huéng giao tiép

Tam dich:

John: "Cau roi di rdi sa0? Buoi khiéu vii chi méi bat dau." Peter: "Nhung da rat muon, nén

A. that sy vui ddy cu &, cam on nhé

B. bao trong nhé

C. bay gio tam biét cau nhé

D. chic cau mot ngay tét lanh

Luu ¥ 12 nguoi ta thuong néi tam biét trudc réi méi noi nguoi kia bao trong sau, nén loai cau B.
— Chon dap an C

Question 19:

Tinh hudng giao tiép

Tam dich:

- John: "Tai sao chdng ta lai khong di choi bong chay nhi?".

- Jimmy: " ”

A. Khong, cam on. T6i mudn ngdi ¢ day

B. T6i mudn dén phong trung bay nghé thuat hon
C. Choi bong chay that tét

D. Khdng, tdi khong.

Céc phan hoi A, C, D khdng phu hop véi ngit canh
— Chon dap an B
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Question 20:
Kién thirc: Ménh dé quan hé
Giai chi tiét:
As long as: mién la
In spite of: mac cho
Because: boi vi
Dung dai tir “which” thay cho tir chi vat trong ménh dé quan hé.
Tam dich: New York dugc coi 1a trung tdm vin hoa cua thé gioi. N6 nam trén bo séng Hudson.
A. Mién 1a New York duoc coi 1a trung tdm vin hoa cia thé giéi, nd nam trén bd séng Hudson.
=> sai nghia
B. Mic du nam trén bo song Hudson, New York dugce coi 13 trung tdm van hoa cua thé gigi. => sai nghia
C. Vi nam trén bd song Hudson, New York dugc coi |a trung tam vian hda cua thé gidi. => sai nghia
D. New York, nam trén bd song Hudson, dugc coi 1a trung tdm vin hoa cua thé gidi.
=>Pap an D
Question 21:
Kién thirc: Ménh dé nhuong bo
Giai chi tiét:
Despite the fact that + S + V: mac du, mac cho
Because + S + V: bai vi
as long as: mién la
Unless + S + V-hién tai don = If + S + don’t/doesn’t + V-nguyén thé: néu ... khong ...
Tam dich: Tam ning van 1a mot hoat dong phé bién. Moi nguoi 1am didu d6 mic di ho biét n6 co thé
gay ung thu.
A. Mac di tam nang c6 thé gay ung thu, nhung day van 1a mot hoat dong pho bién.
B. Vi tim nang van la mot hoat dong phd bién, n6 ¢ thé gay ung thu. => sai nghia
C. Tam nang van la mot hoat dong phé bién mién 1a nd co thé gay ung thu. => sai nghia
D. Sai, vi khong dung dong tir khuyét thiéu trong ménh dé diéu kién.
=>Pap an A
Question 22:
Kién thirc: Ngir phap
A. Mic du dang hoc dai hoc, anh ay vén di 1am ¢ nha hang
B. Thay vi di hoc dai hoc, anh 4y di lam & 1 nha hang
C. Anh y quyét dinh di lam ¢ nha hang boi vi anh ay thich thé
D. Anh 4y di lam & 1 nha hang thay vi di hoc dai hoc
Tam dich: Anh dy da quyét dinh khong hoc dai hoc va di lam ¢ mét nha hang.
=> Chon dap an D
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Question 23:
Kién thic: Ngir phap
A. Lam viéc cham chi dam bao cho su thanh cdng
B. Néu ma ban giit bi mat cdng viéc, ban s& thanh cong
C. Mot nguoi khéng thé thanh cong néu anh ta c6 bi mat
D. Mot ngudi phai 1am viéc cham chi dé giir bi mat
Tam dich: Bi quyét cua si thanh cong 1a 1am viéc cham chi
— Chon dap 4n A
Question 24:
Kién thirc: Ngir phap
A. Toi roi di ma khong noéi 101 tam biét vi tdi khdng mudn lam phién moi ngudi hop
B. Toi lam phién cugc hop vi tdi mubn néi 1oi tam biét
C. T6i tha 1am phién cudc hop hon 13 rdi di ma khong néi 10i tam biét
D. Cudc hop di bi lam phién vi tdi roi di va néi 1am tam biét
Tam dich: Thay vi 1am réi cugc hop, t6i da roi di ma khéng néi 161 tam biét
— Chon dap 4n A
Question 25: Pap an C
Phwong phap giai:
Kién thikc: Doc hiéu — y chinh
Giai chi tiét:
Poan vin chil yéu thao luan noi dung gi?
A. Nhiing thay ddi vé gi4o duc trong x4 hoi Canada
B. Canada trong Chién tranh thé gioi thu hai
C. Xu huéng dan sb & Canada thoi hau chién
D. Muc séng ¢ Canada
Thong tin:
- Basic to any understanding of Canada in the 20 years after the Second World War is the country's
impressive population growth.
- After the peak year of 1957, the birth rate in Canada began to decline.

- Although the growth in Canada's population had slowed down by 1966 (the increase in the first half of
the 1960s was only nine percent), another large population wave was coming over the horizon.

Tam dich:

- Bat ky hiéu biét co ban nao vé Canada trong 20 nam sau Chién tranh thé gi6i thi hai déu la su gia tiang
dan sb 4n tuong cua dat nudc.

- Sau nam dinh cao 1a 1957, ty I¢ sinh & Canada bét dau giam.

- Mic du sy ting truong dan s cua Canada da cham lai vao nam 1966 (muc ting trong nira dau nhiing
nam 1960 chi 12 9%), mot lan séng dan s6 16n khac dang dén gan.
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Question 26: Pap an B

Phwong phap giai:

Kién thirc: Doc hiéu — chi tiét

Giai chi tiét:

Theo doan vin, sy bung né tré so sinh cua Canada bét dau tir khi nao?
A. Trong thap Ky sau nam 1911

B. Sau nam 1945

C. Trong thoi ky suy thodi cua nhitng nam 1930

D. Nam 1966

Thong tin: and the catching-up process began after 1945. The baby boom continued through the decade
of the 1950s, producing a been exceeded only once before in Canada's history, in the decade before 1911,

Tam dich: va qua trinh tim hiéu bat dau bat dau sau nam 1945. Sy bung né tré so sinh tiép tuc kéo dai
sudt thap ky cua nhimg nam 1950, s6 lwong chi vuot qua mot lan trudc day trong lich sir Canada, vao
thap ky truéc nam 1911, ...

Question 27: Pap an C

Phwong phap giai:

Kién thirc: Poc hiéu — tir vung

Giai chi tiét:

Tir "surging" trong doan 1 gan nghia nhat véi ...............

A. new (adj): mai

B. extra (adj): phuy, thém

C. accelerating (adj): ting toc

D. surprising (adj): dang ngac nhién

=> surging (adj): tang vot, vuot bac = accelerating

Thong tin: Most of these surging growth came from natural increase.

Tam dich: Phan 16n su ting truong vuot bac nay dén tir su tang tu nhién.

Question 28: Pap an A

Phwong phap giai:

Kién thiec: Doc hiéu — tir vung

Giai chi tiét:

Tir "trend" trong doan 1 gan nghia nhat véi ...........

A. tendency (n): xu huéng

B. aim (n): muc dich

C. growth (n): su tang trudng, phat trién

D. directive (n): chi thi

=> trend (n): khuynh huéng, xu hudng = tendency

Thoéng tin: but the expansion also derived from a trend toward earlier marriages and an increase in the
average size of families.

Tam dich: nhung sy gia ting ndy ciing bat ngudn tir xu huéng két hdn sém hon va quy mé gia dinh trung
binh tang 1én.

https://www.facebook.com/phithibichngocteacher 155


https://www.facebook.com/phithibichngocteacher

C6 Phi Thij Bich Ngoc Luyén Thi THPT Quéc Gia 2021

Question 29: Pap an B

Phwong phap giai:

Kién thirc: Doc hiéu — chi tiét

Giai chi tiét:

Téc gia dé cap tat ca nhitng diéu sau ddy 13 nguyén nhan ca su giam gia ting dan sd sau nim 1957 TRU
A. moi ngudi duoc gido duc tét hon

B. moi ngudi két hon sém hon

C. mtc sdng tét hon

D. cap vo chéng mua nha

Thoéng tin: Young people were staying at school longer; more women were working; young married
couples were buying automobiles or houses before starting families; rising living standards were cutting
down the size of families.

Tam dich: Nhimng nguoi tré tudi da ¢ lai trudng 1au hon (A); nhiéu phy nit di lam hon; cac cip vo chong
tré da mua 6 t6 hodc nha (D) trudc khi lap gia dinh; mic song ting cao (C) di cat giam quy mo gia dinh.
Question 30: Pap an A

Phwong phap giai:

Kién thirc: Poc hiéu — suy luan

Giai chi tiét:

C6 thé suy ra tir doan vin rang truéc cudc Cach mang Cong nghiép ...........

A. gia dinh 16n hon

B. thong ké dan sb khong dang tin cay

C. dan sb tang déu

D. diéu kién kinh té toi té

Thong tin: It appeared that Canada was once more falling in step with the trend toward smaller families
that had occurred all through the Western world since the time of the Industrial Revolution.

Tam dich: C6 vé nhu Canada mét 1an nita roi vao xu huéng huéng téi cac gia dinh nho hon da xay ra
khip thé gii phuong Tay ké tir thoi Cach mang Cong nghiép.

=> trugc cugc Cach mang Céng nghiép, quy moé gia dinh ¢ Canada thuong l6n hon.
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Question 31: Pap an B

Phwong phap giai:

Kién thirc: Doc hiéu — tir thay thé

Giai chi tiét:

Tur "It" trong doan cudi damchi ...........

A. horizon (n): chan troi

B. population wave (n): 1an séng dan sé

C. nine percent: 9%

D. first half: nira dau

Thong tin: Although the growth in Canada's population had slowed down by 1966 (the increase in the
first half of the 1960s was only nine percent), another large population wave was coming over the
horizon. It would be composed of the children of the children who were born during the period of the
high birth rate prior to 1957.

Tam dich: Mac di su tang truong dan s6 caa Canada da cham lai vao nim 1966 (mirc ting trong nira dau
nhitng ndm 1960 chi 1a 9%), mot 1an séng dan sé 16n khac dang dén gan. N6 s& bao géom con céi caa
nhiing dra tré duoc sinh ra trong thoi Ky ty 1€ sinh cao trudc nam 1957.

Cha y khi giai:

Dich bai doc:

Bat ky hiéu biét co ban nao vé Canada trong 20 nam sau Chién tranh thé gigi thir hai déu 1a sy gia
tang dan sb 4n twong cua dat nuéc. Cir ba nguoi Canada vao nim 1945, thi c6 hon nim ngudi vao nim
1966. Vao thang 9 nam 1966, dan sé Canada di vugt méc 20 tridu nguoi. Phan 1on su ting trudng vuot
bac nay dén tir su ting tw nhién. Su suy thoai cia nhitng nam 1930 va chién tranh da kim ham céc cudc
hdn nhan, va qua trinh tim hiéu bat dau bat dau sau nim 1945. Sy bing no tré so sinh tiép tuc kéo dai sudt
thap ky cua nhimg nam 1950, s6 lwong chi vuot qua mot lan truée day trong lich st Canada, vao thap ky
truée nam 1911, khi cac thao nguyén da ting dan sé gan muoi 1am phan trim trong 5 nam tir 1951 dén
1956. Ty Ié gia ting nay da dugc on dinh. Khong nghi ngd gi nira, diéu kién kinh té tét cua nhitng nim
1950 da hd tro sy gia ting dan sd, nhung su gia ting nay ciing bat ngudn tir xu hudng két hén som hon va
quy mo gia dinh trung binh tang 1én. Nam 1957, ty 1é sinh & Canada la 28 phan nghin, mét trong nhiing ty
1& cao nht trén thé gioi.

Sau nam dinh cao 1a 1957, ty 1¢ sinh & Canada bat dau giam. N6 tiép tuc giam cho dén nam 1966,
n6 ding & mac thap nhat trong 25 nam. Su syt giam nay mot phan phan anh mirc do sinh thap trong thoi
ky suy thoai va chién tranh, nhung n6 ciing 1a do nhitng thay d6i trong x& hoi Canada. Nhimg nguoi tré
tudi da o lai truong lau hon; nhiéu phu nit di lam hon; cac cap vo chdng tré dd mua 6 t6 hodc nha truge
khi lap gia dinh; mirc sng ting cao di cit giam quy mé gia dinh.

C6 vé nhu Canada mot 1an nita roi vao xu huéng huéng téi cac gia dinh nho hon da xay ra khip thé
gioi phuong Tay ké tir thoi Cach mang Cong nghiép. Mic du sy ting treong dan sé caa Canada da cham
lai vao nam 1966 (mirc ting trong ntra dau nhitng nam 1960 chi 1a 9%), mot lan séng dan sé 16n khéc
dang dén gan. N6 s& bao gém con céi cua nhimg dta tré duoc sinh ra trong thoi ky ty 18 sinh cao truéc
nam 1957.
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Question 32:

Kién thirc ménh dé quan hé

- which: thay thé cho danh tir chi vat

- the reason why: ly do ma

- that thay thé cho danh tir chi ngudi, vat (chi dung trong ménh dé quan hé xac dinh)

- where thay thé cho danh tir chi noi chon

Tam dich: But what is energy? Energy is simply the ability to do work, (32) work is done
when a force moves an object. (Nhung nang lwong la gi? Nang luwong don gian la khd nang thuc hién
cong viéc, noi cong viéc dwoc thwe hién khi mot luc di chuyén mot vdt theé)

=>Pap an B

Question 33:

Kién thirc cum dong tir

A. get up: thirc day

B. wake out: tinh

C. get out (of): di ra khéi

D. wake up: tinh giac

Tam dich: You need energy to (33) of bed in the morning. (Ban can ning lwong dé ra khoi
giwong vao buoi sang.)

=>Pap an C

Question 34:

Kién thirc tir vung

A. degree (n): muc do

B. scale (n): quy mé

C. source (n): ngudn

D. format (n): kho sach, dinh dang

Tam dich: Organisms, in turn, use sugar as a (34) of energy to do work. (Cdc sinh vit, lan
luot, sur dung dwong nhuw mot nguon nang lwong dé lam viéc)

=>Pap an C

Question 35:

Kién thirc tir virng:

A. purchase (v): mua

B. exchange (v): trao doi

C. remove (v): loai bo

D. convert (v): chuyén hoa

Tam dich: The process by which carbon dioxide and water are (35) to sugar and oxygen using
sunlight is referred to as photosynthesis. (Qud trinh ma CO2 va nude dwoc chuyén déi thanh dwong va
khi O2 bang dnh sang mdt troi dwoc goi la quang hop)

=>Pap an D
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Question 36:

Kién thirc tir vang

A. absorb (v): hap thu

B. provide (v): cung cap

C. transfer (v): chuyén

D. consume (V): tiéu thu

Tam dich: Sun (36) the energy needed to drive photosynthesis, and some of the energy used to
make the sugar is stored in the sugar molecule. (Mdt troi cung cdp néing lwong can thiét dé thiic day qua
trinh quang hop va mét sé ndng lwong duwoc sir dung dé tao ra.)

=>Pap an B

Question 37:

Kién thirc: Tir veng

* Make: Tao ra hoic chuan bi thir gi d6 bang cach két hop cac vat liéu hoac cac bo phan vao véi nhau

* Create: Tao mot diéu gi d6 moi, chua timg c6 trude d6

* Prevent: Ngin ngira didu gi xay ra

* Invent: Phat minh, sang ché

* Generate: Tao ra, phat ra tir cac vat liéu

Tam dich: Con nguwoi da sir dung than va ddu dé tao ra dién tir 1au.

— Chon dap 4n A

Question 38:

Kién thirc: Tir vung

Giai chi tiét:

illicit (adj): bat hop phap

A. illegal (adj): bat hop phap

B. irregular (adj): bat thuong

C. secret (adj): bi mat, kin dao

D. loyal (adj): trung thanh

=> illicit = illegal

Tam dich: Viéc budn ban trai phép ma tly cua anh ta da két thic véi cude dot kich cua canh sat vao sang
nay.

=>Papan A

Question 39:

Kién thirc: tir vung

A. married: Pa két hon B. separated: Ly than C. single: bgc than D. divorced: Ba ly di
Tam dich: Cd quyér dinh séng dgc than va cong hién cude doi minh dé givip do nhitng ngueoi vé gia cu va
tré mo coi.

— celibate >< married

— Chon dap 4n A
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Question 40:

Kién thirc: Tir vung

Giai chi tiét:

disparate (adj): khac nhau, khac biét

A. different (adj): khac nhau

B. identical (adj): gibng hét nhau

C. distinct (adj): khac biét

D. dissimilar (adj): khong twong dong

=> disparate >< identical

Tam dich: C6 mét hoic hai diém tuong dong gitta dat nude toi va Vuong quc Anh, nhung xét vé tong
thé, chiing khéc biét dén mirc khé tim ra diém chung nao.

=>Pap an B

Question 41: Pap an B

Phwong phap giai:

Kién thirc: Su hoa hop chu ngir & dong tir

Giai chi tiét:

Cha ngit “The girl” s6 it.

Dung dai tir “who” thay thé cho danh tir “The girl” => who = chu ngir s6 it
Tobe ding cho chi ngit sé it, chia thi quéa kht don phai 1a: was

Sua: were => was

Tam dich: C6 gai da bi thuong trong vu tai nan bay gio ¢ bénh vién.
Question 42: Pap an D

Phwong phap giai:

Kién thirc: Cau tric song hanh

Giai chi tiét:

Lién tir “and” néi nhiing tir clng dang, cing loai.

Trude “and” 13 nhitng dong tir chia thi hién tai don theo chu ngir s6 it (plows, plants) => sau “and” ciing
phai 12 dong tir chia thi hién tai don theo chu ngi sd it.

Stra: will harvest => harvests

Tam dich: Nguoi néng dan cay ruong, gieo hat va thu hoach mua mang.
Question 43: Pap an A

Phwong phap giai:

Kién thirc: Su két hop tur

Giai chi tiét:

make a profit (= turn a profit): kiém 10i, c6 l4i

Stra: do a profit => make/turn a profit

Tam dich: Dé ¢ l4i, trung tam giai tri méi can it nhat 2000 du khach méi thang.
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Question 44: Pap an D

Phwong phap giai:

Kién thikc: Poc hiéu — y chinh

Giai chi tiét:

Chu dé chinh cua bai doc 12 gi?

A. Cudc cach mang trong giao tiép
B. Su phat minh ra sgi quang

C. Céc k§ thuat phau thuat méi

D. Vai tro cua sgi quang trong y hoc
Thong tin:

- Just as optical fibers have transformed communication, they are also revolutionizing medicine.

- By inserting optical fibers through natural openings or small incisions and then threading them along the
body's established pathways, physicians can look into the lungs, intestines, heart and other areas that were
formerly inaccessible to them.

- Optical fibers can also be used to deliver laser light. By use of laser beams, physicians can perform
surgery inside the body, sometimes eliminating the need for invasive procedures in which healthy tissue
must be cut through to reach the site of disease.

- These techniques have reduced the risk and the cost of medical care.

Tam dich:

- Gibng nhu soi quang hoc da thay doi lién lac, chung ciing dang cach mang héa y hoc.

- Bang cach chén cac soi quang hoc qua cac khe hé tu nhién hoic cac vét rach nho va sau d6 ludn ching
doc theo cac dudng dan da duoc thiét 1ap cua co thé, cac bac si ¢ thé nhin vao phdi, rudt, tim va cac khu
vuc khiac ma trude ddy chung khong thé tiép can dugc.

- Soi quang hoc ciing c¢6 thé dugc sir dung dé cung cap anh sang laser. Bang céch sir dung chum tia laze,
bac si c6 thé tién hanh phau thuat bén trong co thé, doi khi loai bo sy can thiét cua cac thi thuat xam lan,
trong d6 mo khoe manh phai duoc ¢t qua dé tiép can vi tri bénh.

- Nhitng k¥ thuat nay da 1am giam rai ro va chi phi cham soc y té.

Question 45: Pap an C

Phwong phap giai:

Kién thiec: Doc hiéu — tir vung

Giai chi tiét:

Téc gia sir dung cum tir "dd mé mot cira s6" dé chi ra rang viéc sir dung céc soi quang hoc

A. da cho phép cac nha khoa hoc tao ra nhiing kham pha dang kinh ngac

B. dbi khi yéu cau mot vét mo

C. cho phép cac bac si nhin thdy bén trong co thé ma khdng can phau thuat Ién

D. van chua dugc c¢ong ching biét dén cho dén gan day

Thong tin: . These ultra - thin, flexible fibers have opened a window into the living tissues of the body.

... physicians can look into the lungs, intestines, heart and other areas that were formerly inaccessible to
them.

Tam dich: Nhitng soi siéu mong, linh hoat nay da “md ra mot ctra $6” vao cac mé séng cua co thé. ...
cac bac si co thé nhin vao phéi, rudt, tim va cac khu vuce khac ma trude day ho khdng thé tiép can duoc.
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Question 46: Pap an A

Phwong phap giai:

Kién thikc: Doc hiéu — tir vung

Giai chi tiét:

Tir ndo gan nghia nhat véi tir “formerly”?
formerly (adv): trudc kia

A. previously (adv): trudc do

B. completely (adv): hoan toan

C. usually (adv): thuong thuong

D. theoretically (adv): vé mat ly thuyét
=> formerly = previously

Question 47: C

Phwong phap giai:

Kién thirc: Doc hiéu — tir thay thé

Giai chi tiét:

Tu “them” trong doan 1 chi

A. optical fibers: soi quang hoc

B. pathways: duong dan

C. physicians: bac si

D. other areas of the body: céc khu virc khac cia co thé

Thoéng tin: By inserting optical fibers through natural openings or small incisions and then threading
them along the body's established pathways, physicians can look into the lungs, intestines, heart and other
areas that were formerly inaccessible to them.

Tam dich: Bang céach chén cac soi quang hoc qua cac khe hé tu nhién hodc cac vét rach nho va sau do
ludn chiing doc theo cac dudong dan da duoc thiét 1ap cta co thé, cac bac si co thé nhin vao phdi, rudt, tim
va cé&c khu vuce khac ma trude day ho khdng thé tiép can duoc.

Question 48: A

Phwong phap giai:

Kién thirc: Doc hiéu — chi tiét

Giai chi tiét:

Theo doan vin, muc dich cta bé chiéu sang trong éng kinh soi la gi?

A. Dé truyén 4anh sang vao co thé.

B. Bé thu va hoi tu anh sang.

C. bé tai tao hinh anh.

D. Pé thuc hién phau thuat bén trong co thé.

Thong tin: One, the illuminating bundle, carries light to the tissues.

Tam dich: Mét, b6 chiéu sang, mang &nh sang dén cac mé.
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Question 49: C

Phwong phap giai:

Kién thirc: Doc hiéu — chi tiét

Giai chi tiét:

Theo doan van, kinh soi sgi duoc sir dung ngay nay khac vaéi kinh duoc sir dung trong 5 nam trudc nhu
thé nao?

A. Chang str dung anh sang sang hon.

B. Chdng dai hon.

C. Chung chtra nhiéu soi hon.

D. Chiing c6 duong Kinh 16n hon.

Thong tin: During the last five years, improved methods of fabricating optical fibers have led to a

reduction in fiberscope diameter and an increase in the number of fibers, which in turn has increased
resolution.

Tam dich: Trong 5 ndm qua, cic phuong phap ché tao soi quang hoc duoc cai tién da 1am giam dudng
kinh 6ng soi va ting sb lugng soi, do d6 d6 phan giai tang 1én.

Question 50: D

Phwong phap giai:

Kién thirc: Doc hiéu — cau héi chia “NOT’

Giai chi tiét:

Diéu nao sau ddy KHONG duoc tac gia dé cap dén nhu mét trong nhitng vu diém cua ky thuat phau thuat
laser?

A. Chiing c6 thé dugc thuc hién tai phong khdm cua bac si.

B. Chung an toan hon phau thuat thong thuong.

C. Chung thudng c6 thé duoc thyuc hién ma khdng can gay mé.

D. Chung twong ddi dé day cho céc thay thudc.

Thong tin: By use of laser beams, ... Many of these procedures do not require anesthesia and can be
performed in a physician's office. These techniques have reduced the risk and the cost of medical care.
Tam dich: Bang cach sir dung chum tia laze, ... Nhiéu thu tuc trong sé nay khdng can gay mé (C) va co
thé duogc thyc hién tai phong khdm cua bac si. (A) Nhitng ky thuat nay da lam giam rui ro va chi phi cham
s6cy té. (B)

=> chi ¢c6 D khdng dugc nhic dén

Cha y khi giai:

Dich bai doc:

Gidng nhu soi quang hoc di thay ddi lién lac, ching ciing dang cach mang héa y hoc. Nhiing soi siéu
mong, linh hoat nay di “mé ra mot cira $6” vao cac mé sdng cua co thé. Bang cach chén cac soi quang
hoc qua cac khe ho tu nhién hoic céc vét rach nho va sau d6 ludn chiing doc theo cac dudng dan da duoc
thiét 1ap cua co thé, cc bac si co thé nhin vao phdi, rudt, tim va cac khu vuc khac ma trude day ho khong
thé tiép can duoc.

Hé thdng soi quang co ban duoc goi la soi quang, bao gom hai bé soi. Mét, b6 chiéu sang, mang &nh sang
dén cac mo. N6 duoc két hop voi mot ngudn sang cuong do cao. Anh sang di vao 16 cua thay tinh silicon
c6 d6 tinh khiét cao va truyén doc theo cac soi. Mot thau kinh ¢ cudi bé thu thap anh sang va hoi tu anh
séng vao bo con lai, b hinh anh. Mdi soi trong b6 chi truyén mot phan rat nho trong tong s6 hinh anh.
Hinh anh duogc dung lai c6 thé duoc xem qua thi kinh hozc hién thi trén man hinh tivi. Trong 5 nim qua,
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cac phuong phap ché tao sgi quang hoc duoc cai tién da 1am giam duong kinh dng soi va ting sé luong
s¢i, do d6 do phén giai tang 1én.

Soi quang hoc ciing c6 thé duoc sir dung dé cung cap anh sang laser. Bang céach st dung chum tia laze,
béc si co thé tién hanh phau thuat bén trong co thé, doi khi loai bo sy can thiét cua cac tha thuat xam lan,
trong d6 mé khoe manh phai duoc cit qua dé tiép can vj tri bénh. Nhiéu thu tuc trong s6 nay khdng can
gay mé va c6 thé duogc thuc hién tai phong khdm cua bac si. Nhitng k§ thuat nay da 1am giam rui ro va chi
phi cham soc y té.
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